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Word Problems

The equation of a line:

V=mx+Db
/

S)DF‘L Y- indercept-

When you have word problems (a context)
that are linear relationships, the same
formula can be used, but the "n' and the
"b" have different meanings.



EX.1. Tom agrees to buy a gym membership
which charges an initiation fee of w

plus $2.00 per visit. Y- ik

™
a. Write the equation that represents

the cost of going to the gym.
\j= Mt
W= ax+ 3

b. What is the@? What does it
represent? )
cos+ 49 VisH Sﬁm

c. What is the y-intercept? What does
it represent? 35

nihoad Value
( base @)

4 oF visits
d. Find th;“cost for 12 visits.

K5=&/x+?>5
Cost 5%90&3 + 23S
‘3‘- A4 +3S
3759

Tt costs 59
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EX.2. It COSt%%’-?,gfor a taxi and @\&%9 per km.

a. Write the equation that represents the
cost of riding in a taxi.

M= max 4 b
= .S/ + +
e
CCS"I‘ \\‘I\MN\W ol KN\

b. What is the slope? What does it
represent?

.S
Cost per K\

c. What is the y-intercept? What does it

represent?
’_Z’_

* Hack b

. \(\‘\\Qé E\Ooi\us-

- bose Les.

d. Find the cost of a 6km taxi ride.

ﬂ: 1.SxK +
WIS+ - ogs Y
3:Q+?

Y= lo
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EX.3. Atennis club charges an annual
membership fee of $25 plus $5 for a
day pass to play tenms\, Ym

‘j"
a. Write the equation that represents the
cost of a membership.

5=mh<-\—‘<>
‘j €/>£§+ QAS

# of imas Lo

b. What is the slope’g GVhat does it
represent?

>
Cost per O\O\j

c. What is the y-intercept? What does it
represent?

*as
\oasQ_ -@e_

d. How much would it cost to play tennis
everyday for a week?

‘3-‘- SX 4+ S & X= +
=s(Fyas (e '20>

W=3S+as uee

Y4=60 2. i costs 60

e. How many times would you play if the

cost for the membership is $65y?
YESK+ IS e0°
LSS+ S
10 =2
S S

S =
L dpu Ploy B Aima S @ayd)
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Homework:

Handout: Word Problems #1-3
Fill in the Blanks Sheet

Tesk is 7, )



